1) Choose the correct answer:

1- The crime was .......... early in the morning.

a) Commit b) Committed c) Committing

2- The criminal had already .......... by the time the police
arrived.

a) escaped b) escape c) had escaped

3- Before he got into his car, he had been ..........

a) Jogging b) Jog c) jogged

2) Put the following events in order:

) . .
A man walked into a corner store in
\ ) Colorado Springs with a gun.
) The cashier refused because the robber
wasn’t over 21.
——
The cashier immediately called the police
i
and gave them the name and the address of |[:
~— the robber.
The robber showed his driver license to the
cashier.
—\ He demanded all of the cash.
He saw a pack of cigarettes and he told the
_) . . . .
cashier to put it in the bag with the cash.
)




3) Match the words with their meanings:

Decline I’'m certain

Inmate A prisoner

I’'m positive Without permission

Pickpocket Stolen

Nabbed To refuse

Unauthorized Not on purpose :

By accident A person who steals from the pockets of
people

4) Decide if each sentence is active or passive:

a) She called her mother.

active passive

b) The police catch thieves

active passive

c) The burglar was arrested by the police.

active passive

d) The subsect was found guilty.

active passive

5) Change into the passive:
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